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France hits all-time 
highest temperature 

France has officially had its hottest  
ever day with temperatures hitting  
45∙9°C. 

 
 

Asteroid filled with metals could make 
everyone on Earth a billionaire 

NASA is  
planning to  
send a  
craft to  
an asteroid  
that is  
absolutely  
jam-packed  
with gold  
and  
platinum –  
so much so that, theoretically, it could make  
everyone on Earth a billionaire. 

Women's World Cup: Record-breaking 
peak of 7∙6m watch England beat Norway 

US President Donald Trump has invited  
North Korean leader Kim Jong-un to meet 
him at the fortified area that divides  
North and South Korea and shake his  
hand in what would be their third meeting  
in the space of a year. 

Trump says he wants to 'shake hands‘ with North Korea's Kim at DMZ 

The lowest natural temperature ever  
directly recorded on Earth was  
−89∙2 °C at the Soviet Vostok Station  
in Antarctica on the 21st of July 1983. 

Cdmasterworks Ltd 
What is the difference between  
these two temperatures? 

The new record was measured  
in the southern village of  
Gallargues-le-Montueux.  

ENVIRONMENT 

SCIENCE 

The asteroid, named 16 Psyche, also contains  
iron and nickel, with a combined value of eight  
thousand quadrillion pounds. 

(a)   Write this amount as a number. 

The population of earth is 7∙53 billion. 

(b)   If the value of this asteroid was shared  
       equally between everyone on earth how  
       much would we all receive?  
       Give your answer in WORDS. 

This would be in between his meetings  
with President Xi of China and President  
Moon of South Korea. 

If all 4 leaders just happened to be in the same room (however unlikely that would be!) and were  
to each shake each others hands exactly once, how many hand shakes would that be altogether?  

POLITICS A record-breaking  
peak TV audience  
of 7∙6 million  
watched as  
England beat  
Norway 3-0 to  
reach the Women's World Cup semi-finals. 
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This was 38∙6% of the available audience. 

Express the percentage of the available TV  
audience who watched the game as a fraction  
in its simplest form. 


